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Question: 1

Which of the following is not true about the concept of "modernity"?

A. Thinkers and artists emphasized tradition over innovation
B. Vienna cafe culture included design and psychiatry

C. A withdrawal from mixed farming in europe

D. Privatization

Answer: A

What is a lingua franca?

A. after world war ii

B. a language group

C. acommon, regional language
D. moscow and the central region

Answer: C

Which of the following is true about the Chechen independence movement?

A. Stalin accused Chechens of being Nazi collaborators; Chechnya has major oil and gas reserves
B. Caspian

C. decline in birthrates

D. Muslims

Answer: A

Question: 4

When was the Marshall Plan instituted?
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A. Salt March

B. When The Soviet Union Invaded Korea
C. After World War

D. Command Economy

Answer: C

What time of year experiences solar energy equally in both hemispheres?

A. Winter Solstice
B. Both Equinoxes
C. Vernal Equinox
D. Autumnal Equinox

Answer: B

Question: 6

The Russian Federation has claimed what part of the Arctic "Frontier"?

A. European Core

B. Steppe

C. Barent Sea

D. Lomonosov Ridge

Answer: D

Question: 7

What is the Tabula Rogeriana?

A. guest worker

B. permanently frozen subsurface material

C. orients the south on the top of the map

made by Islamic cartographer Muhammed al-Idrisi
the "map of the known world" in 1154

D. a common, regional language

Answer: C
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Question: 8

Even in a low emissions scenario on climate change, water stress will increase by:

A.24%
B.23%
C.34%
D. 19%

Answer: A

Question: 9

In 2012, the average number of children per family in Europe was:

A.1l4
B.1.6
C.99.6
D.0.6

Answer: B

Question: 10

Since the 1986 disaster at Chernobyl, all of the following is true, except:

A. carbon neutral buildings
B. command economy

C. business elites

D. new human developments

Answer: D

Question: 11

What unique asset allowed Great Britain to develop its global empire?

A. more men
B. powerful navy
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C. well trained army
D. maritime

Answer: B

The original resource base of the Urals region include:

A. atmospheric circulation
B. the silk road

C. iron ore, copper, nickel
D. delphi and olympia

Answer: C

What countries produce tantalum, a mineral used in cell phones?

A. Rwanda and Democratic Republic of the Congo
B. Moscow and the Central Region

C. The Small Principality of Muscovy

D. Moscow and the Central Region

Answer: A

After the fall of the Soviet Union, some 25 million Russians found themselves to be ethnic minorities in
newly independent countries. The largest number of minorities was found in what state?

A. Belarus
B. Ukraine
C. Estonia
D. Kazakhstan

Answer: B
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Sunni Islam is the dominant religion in Central Asia and the Transcaucasus since:

A. 8th Century

B. 8th-6th Centuries
C. 13th Century

D. 15th Century

Answer: A
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